RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 1 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
0005 230042 06245007. X Foreign Owner? (Y)
1010 230042 06245007. X Foreign Owner? (Y)
1020 230141 06245007. X Foreign Owner? (Y)
1030 231303 06245007. X Foreign Owner? (N)
1040 231302 06245007. X Foreign Owner? (N)
1050 232412 06245007. X Foreign Owner? (N)
1060 231402 06245007. X Foreign Owner? (N)
1070 231542 06245007. X Foreign Owner? (Y)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 2 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
1080 229545 06245007. X Foreign Owner? (Y)
1090 229503 06245007. X Foreign Owner? (N)
1100 229301 06245007. X Foreign Owner? (N)
1120 230741 06245007. X Foreign Owner? (Y)
1130 230740 06245007. X Foreign Owner? (Y)
1140 228546 06245007. X Foreign Owner? (Y)
1150 228545 06245007. X Foreign Owner? (Y)
1160 228542 06245007. X Foreign Owner? (Y)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 3 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
1170 227546 06245007. X Foreign Owner? (Y)
1180 228640 06245007. X Foreign Owner? (Y)
1190 227542 06245007. X Foreign Owner? (Y)
1200 226543 06245007. X Foreign Owner? (Y)
1210 226445 06245007. X Foreign Owner? (Y)
1220 226443 06245007. X Foreign Owner? (Y)
1230 226404 06245007. X Foreign Owner? (N)
1240 226403 06245007. X Foreign Owner? (N)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 4 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
1250 225403 06245007. X Foreign Owner? (N)
1260 224404 06245007. X Foreign Owner? (N)
1270 224403 06245007. X Foreign Owner? (N)
1280 224501 06245007. X Foreign Owner? (N)
1290 223548 06245007. X Foreign Owner? (Y)
1300 222544 06245007. X Foreign Owner? (Y)
1310 223544 06245007. X Foreign Owner? (Y)
1320 223541 06245007. X Foreign Owner? (Y)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 5 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
1330 222443 06245007. X Foreign Owner? (Y)
1340 222401 06245007. X Foreign Owner? (N)
1350 222303 06245007. X Foreign Owner? (N)
1360 222342 06245007. X Foreign Owner? (Y)
1365 220444 06245007. X Foreign Owner? (Y)
1370 222300 06245007. X Foreign Owner? (N)
1380 222207 06245007. X Foreign Owner? (N)
2010 226541 06245007. X Foreign Owner? (Y)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 6 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
2020 226604 06245007. X Foreign Owner? (N)
2030 225603 06245007. X Foreign Owner? (N)
2040 224602 06245007. X Foreign Owner? (N)
2050 224706 06245007. X Foreign Owner? (N)
2060 223705 06245007. X Foreign Owner? (N)
2070 223741 06245007. X Foreign Owner? (Y)
2080 223740 06245007. X Foreign Owner? (Y)
2090 222760 06245007. X Foreign Owner? (N)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 7 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
2100 220662 06245007. X Foreign Owner? (N)
2110 220660 06245007. X Foreign Owner? (N)
2120 219660 06245007. X Foreign Owner? (N)
2130 219540 06245007. X Foreign Owner? (N)
2140 218442 06245007. X Foreign Owner? (N)
2150 217562 06245007. X Foreign Owner? (N)
2160 216561 06245007. X Foreign Owner? (N)
2170 217606 06245007. X Foreign Owner? (N)




RCMS

PLANT ACCT/P R U REPORT DATE 07/19/23
NAME TIME 10:26:33
ADDRESS CITY
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1

CC# 11571

PAGE 8 S
SEQ# POINT MAP/LOC PLT INST A
BA# SI# DESCRIPTION ACCT EPRU /REM L QTY
2180 217701 06245007. X Foreign Owner? (N)
2190 216702 06245007. X Foreign Owner? (N)
2200 216700 06245007. X Foreign Owner? (N)
2210 215600 06245007. X Foreign Owner? (N)
2220 217607 06245007. X Foreign Owner? (N)
2230 218707 06245007. X Foreign Owner? (N)
2240 218802 06245007. X Foreign Owner? (N)
2250 217802 06245007. X Foreign Owner? (N)




NAME
ADDRESS

RCMS

PLANT ACCT/P R U REPORT

TITLE 5G163 LENNOX PT1l FUSE COORDINATION

COORDINATOR:
PAGE 9

SEQ# POINT
BA# SI#
2260

DESCRIPTION

ALFONSO DOMINGUEZ

MAP/LOC

DATE 07/19/23
TIME 10:26:33
CITY
WO# 07032082
VER 1
CC# 11571
S
PLT INST A
ACCT EPRU /REM L OTY
X Foreign Owner? (N)




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 1
SEQ# 0005 DESCRIPTION:
MAP# 06-2-45-007.0 POINT: 230042 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 75 COVER, CUTOUT, FHCA, 15-27KV, PF BA EV151G _
I 781 JUMPER WIRE BIRD GUARD SILICON BA EV901B
I 5 COVER, CUTOUT, FHCA, 27KV, STD UNI BA EV151F
I 43 1PH CUTOUT AND ARRESTOR ASSY CU EM241ACIEY
43 BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
43  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
43  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
43  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
86 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
344 JMPR WIRE #4 7STR CU COVERED EC951J
43 C/0,27KV,100A, 12KA, POLY, W/CVR EM701A
43 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
86 STRAP, NYLON, BLACK ET811X
R 43 1PH CUTOUT AND ARRESTOR ASSY CU EM241ACIEY
43 BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
43  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
43  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
43  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
86 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
344 JMPR WIRE #4 7STR CU COVERED EC951J
43 C/0,27KV,100A, 12KA, POLY, W/CVR EM701A
43 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
86 STRAP, NYLON, BLACK ET811X
I 5 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
R 5 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
R 11 UNIV FUSE LINK, 15/25KV, 2KS BA DP501B
R 4 UNIV FUSE LINK, 15/25KV, 3KS BA DP501C
R 14 UNIV FUSE LINK,15/25KV, 6T BA DP501D
R 2 UNIV FUSE LINK, 15/25KV, 8T BA DP501M
R 10 UNIV FUSE LINK,15/25KV,10T BA DP501E
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
R 1 UNIV FUSE LINK,15/25KV, 20T BA DP5010
I 22 FUSE,ELF, 6A, 8.3KV, 27KV CUTOUT BA DP586AM
SEQ# 0005 DESCRIPTION:
MAP# 06-2-45-007.0 POINT: 230042 Foreign Ownership? (Y)



NAME
ADDRESS

RCMS
FACILITY POINT DETAIL DATA SHEET

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

PAGE

2
2
7
1
1
7
3

HHHHHH

FUSE, ELF, 83, 8. 3KV, 27KV CUTOUT
FUSE, ELF, 124, 8. 3KV, 27KV CUTOUT
FUSE, ELF, 183, 8. 3KV, 27KV CUTOUT
FUSE, ELF, 204, 8. 3KV, 27KV CUTOUT
FUSE, ELF, 6A, 15KV, 27KV CUTOUT
FUSE, ELF, 12A, 15KV, 27KV CUTOUT

BA
BA
BA
BA
BA
BA

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1
CC# 11571

DP586AL
DP586AA
DP586AC
DP586AD
DP586BM
DP586BA




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 3
SEQ# 1010 DESCRIPTION: 41.729127067,-122.631671185
MAP# 06-2-45-007.0 POINT: 230042 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 2 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 2 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
I 3 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 4
SEQ# 1020 DESCRIPTION: 41.730155421,-122.631240264
MAP# 06-2-45-007.0 POINT: 230141 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 1 UNIV FUSE LINK,15/25KV, 40T BA DP501H
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
8 JMPR WIRE #4 7STR CU COVERED EC951J
1 SMD20 P/F,17KV,200E, W/COVER EM701J
1 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
2 STRAP, NYLON, BLACK ET811X
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C

R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 5
SEQ# 1030 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 231303 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 2 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 2 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
I 3 POWER FUSE, SMU-20, 25KV, 175E BA DP551J
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET

DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION Wo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 6
SEQ# 1040 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 231302 Foreign Ownership? (N)
INDIC
I/R  QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 12 JMPR WIRE #2 7STR CU COVERE BA EC951H
I HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R UNIV FUSE LINK,15/25KV,140T BA DP501K
R 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY

BLTD STIRRUP CONN, #4|4/0AL-1/0
HOT-LINE CLAMP, #8-2/0 MAIN/TAP
GROUND, 1-ARRESTER, POLE MT, CA
ARRESTER, SURGE, OH, NON-EXP, 10KV
MACH BOLT ASSY,CRVD,5/8"X14"
STRAP, NYLON, BLACK

UNIV FUSE LINK,15/25KV,140T

WoOHoWwWwwwwwwo

DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X

BA DP501K




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 7
SEQ# 1050 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 232412 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 100E BA DP551G
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV,100T BA DP501J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
R 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

cc# 11571
PAGE 8
SEQ# 1060 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 231402 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 9
SEQ# 1070 DESCRIPTION: 502 E. LENNOX ST.
MAP# 06-2-45-007.0 POINT: 231542 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 2 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
I 2 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD, PRI UG/DLT,CA BA DG201BIA
I 16 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 2 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
2 BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
2 HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
2  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
2  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
4 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
4 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 10
SEQ# 1080 DESCRIPTION: E. LENNOX AND BURGESS
MAP# 06-2-45-007.0 POINT: 229545 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1

cc# 11571
PAGE 11
SEQ# 1090 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 229503 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 4 JMPR WIRE #2 7STR CU COVERE BA EC951H
I 2 HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2  STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 12
SEQ# 1100 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 229301 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 13

SEQ# 1120 DESCRIPTION: 129 E. BLAKE ST.

MAP# 06-2-45-007.0 POINT: 230741 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 14
SEQ# 1130 DESCRIPTION: 129 E. BLAKE ST.
MAP# 06-2-45-007.0 POINT: 230740 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 50E BA DP551D
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV, 40T BA DP501H
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
R 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 15
SEQ# 1140 DESCRIPTION: 302 W LENNOX ST
MAP# 06-2-45-007.0 POINT: 228546 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1

cc# 11571
PAGE 16
SEQ# 1150 DESCRIPTION: 504 3RD ST.
MAP# 06-2-45-007.0 POINT: 228545 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 4 JMPR WIRE #2 7STR CU COVERE BA EC951H
I 2 HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2  STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 17
SEQ# 1160 DESCRIPTION: 308 W. LENNOX ST
MAP# 06-2-45-007.0 POINT: 228542 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD, PRI UG/DLT,CA BA DG201BIA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
1 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
2 STRAP, NYLON, BLACK ET811X
I 1 WD POLE GROUND, ROD, #4CU, CA BA DG201BLA

I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 18
SEQ# 1170 DESCRIPTION: N. OREGON AND W. LENNOX
MAP# 06-2-45-007.0 POINT: 227546 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD, PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 19
SEQ# 1180 DESCRIPTION: 530 N. OREGON ST
MAP# 06-2-45-007.0 POINT: 228640 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 POWER FUSE, SMU-20, 25KV, 125E BA DP551H
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV,140T BA DP501K
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
R 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 20
SEQ# 1190 DESCRIPTION: 623 W LENNOX ST
MAP# 06-2-45-007.0 POINT: 227542 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
1 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
2 STRAP, NYLON, BLACK ET811X
I 1 c/0, 27KV, 300A, POLYMER, W/CVR BA EM701C
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D

I 1 WD POLE GROUND, ROD, #4CU, CA BA DG201BLA




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 21
SEQ# 1200 DESCRIPTION: HILL AND PINE ST.
MAP# 06-2-45-007.0 POINT: 226543 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




NAME

RCMS
FACILITY POINT DETAIL DATA SHEET

ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

PAGE
SEQ#
MAP#

I/R

HHHH®DXHHH

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1
CC# 11571

22
1210 DESCRIPTION: 314 PINE ST.
06-2-45-007.0 POINT: 226445 Foreign Ownership? (Y)
INDIC
QTY DESCRIPTION CHG TYPE CU/BA/SI EX
3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
3 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 23
SEQ# 1220 DESCRIPTION: PINE AND YAMA ST.
MAP# 06-2-45-007.0 POINT: 226443 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 24
SEQ# 1230 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 226404 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 POWER FUSE, SMU-20, 25KV, 150E BA DP551I




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 25
SEQ# 1240 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 226403 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 100E BA DP551G
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV, 65T BA DP501I
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
R 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 26
SEQ# 1250 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 225403 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
3  EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
6 STRAP, NYLON, BLACK ET811X
I 1 c/0, 27KV, 300A, POLYMER, W/CVR BA EM701C
I 1 WD POLE GROUND, ROD, #4CU, CA BA DG201BLA

I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 27
SEQ# 1260 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 224404 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 100E BA DP551G
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1

cc# 11571
PAGE 28
SEQ# 1270 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 224403 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 4 JMPR WIRE #2 7STR CU COVERE BA EC951H
I 2 HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2  STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 29
SEQ# 1280 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 224501 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 25E BA DP551A
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 30
SEQ# 1290 DESCRIPTION: YAMA AND OAK AT FAIRCHILD ST
MAP# 06-2-45-007.0 POINT: 223548 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 POWER FUSE, SMU-20, 25KV, 65E BA DP551E
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1

cc# 11571
PAGE 31
SEQ# 1300 DESCRIPTION: PARK PLACE AND OAK
MAP# 06-2-45-007.0 POINT: 222544 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 4 JMPR WIRE #2 7STR CU COVERE BA EC951H
I 2 HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2  STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 32
SEQ# 1310 DESCRIPTION: CEDAR AND DISCOVERY AT FAIRCHILD
MAP# 06-2-45-007.0 POINT: 223544 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 40E BA DP551C
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION Wo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 33
SEQ# 1320 DESCRIPTION: CEDAR AND DISCOVERY NEAR FAIRCHILD
MAP# 06-2-45-007.0 POINT: 223541 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 4 JMPR WIRE #2 7STR CU COVERE BA EC951H
I 2 HTAP CONNECTOR, #2 | #4-#2|#6 BA DE301A
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2  STRAP, NYLON, BLACK ET811X




NAME

ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

PAGE
SEQ#
MAP#

I/R

HHH®D®H

34

RCMS
FACILITY POINT DETAIL DATA SHEET

1330 DESCRIPTION: YAMA AND NORTH ST. AT FAIRCHILD

06-2-45-007.0 POINT: 222443
INDIC

QTY DESCRIPTION CHG TYPE

3 POWER FUSE, SMU-20, 25KV, 100E BA
24 JMPR WIRE #4 7STR CU COVERED BA
3 UNIV FUSE LINK,15/25KV,100T BA
1 WD POLE GROUND,ROD,1/0-2/0,CA BA
24 JMPR WIRE,1/0 BARE SD CU,7 STR BA

3 SMD20 P/F,27KV,200E, W/COVER BA
3 1PH CUTOUT AND ARRESTOR ASSY cu
3  BLTD STIRRUP CONN, #4|4/0AL-1/0
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP
3 GROUND, 1-ARRESTER, POLE MT,CA
3 ARRESTER, SURGE, OH, NON-EXP, 10KV
6 MACH BOLT ASSY,CRVD,5/8"X14"
6 STRAP, NYLON, BLACK
3 1PH CUTOUT AND ARRESTOR ASSY cu
3  BLTD STIRRUP CONN, #4|4/0AL-1/0
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP
3 GROUND, 1-ARRESTER, POLE MT,CA
3 ARRESTER, SURGE, OH, NON-EXP, 10KV
6 MACH BOLT ASSY,CRVD,5/8"X14"
6 STRAP, NYLON, BLACK
1 EQUIPMENT-MOUNTING ARM ASSY BA

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1
CC# 11571

Foreign Ownership? (Y)

Cu/BA/SI EX
DP551G
EC951J0
DP501J
DG201BFA
EC951D
EM701K
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X
EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

PAGE 35
SEQ# 1340 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 222401

INDIC

I/R QTY DESCRIPTION CHG TYPE

1 POWER FUSE, SMU-20, 25KV, 150E

24 JMPR WIRE #4 7STR CU COVERED

3 UNIV FUSE LINK,15/25KV,140T

WD POLE GROUND,ROD,1/0-2/0,CA

JMPR WIRE,1/0 BARE SD CU,7 STR

SMD20 P/F, 27KV, 200E, W/COVER

1PH CUTOUT AND ARRESTOR ASSY
BLTD STIRRUP CONN, #4|4/0AL-1/0
HOT-LINE CLAMP, #8-2/0 MAIN/TAP
GROUND, 1-ARRESTER, POLE MT, CA
ARRESTER, SURGE, OH, NON-EXP, 10KV
MACH BOLT ASSY,CRVD,5/8"X14"
STRAP, NYLON, BLACK

1PH CUTOUT AND ARRESTOR ASSY
BLTD STIRRUP CONN, #4|4/0AL-1/0
HOT-LINE CLAMP, #8-2/0 MAIN/TAP
GROUND, 1-ARRESTER, POLE MT, CA
ARRESTER, SURGE, OH, NON-EXP, 10KV
MACH BOLT ASSY,CRVD,5/8"X14"
STRAP, NYLON, BLACK

WHHH®Y®YH
N
P

OO WWWWWwoowWwwwww

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1
CC# 11571

Foreign Ownership? (N)

BA
BA
BA
BA
BA
BA
Ccu

Ccu

Y

Y

Cu/BA/SI EX
DP5511I
EC951J0
DP501K
DG201BFA
EC951D
EM701K
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET

NAME

ADDRESS

TITLE 5G163 LENNOX PT1l FUSE COORDINATION
COORDINATOR: ALFONSO DOMINGUEZ

PAGE 36
SEQ# 1350 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 222303
INDIC

I/R  QTY DESCRIPTION CHG TYPE
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA
I 1 WD PL GROUND,ROD,PRI UG/DLT,CA BA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA
R 3 1PH CUTOUT AND ARRESTOR ASSY cu

3  BLTD STIRRUP CONN, #4|4/0AL-1/0

3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP

3 GROUND, 1-ARRESTER, POLE MT,CA

3 ARRESTER, SURGE, OH, NON-EXP, 10KV

6 MACH BOLT ASSY,CRVD,5/8"X14"

6 STRAP, NYLON, BLACK
I 3 1PH CUTOUT AND ARRESTOR ASSY cu

3 BLTD STIRRUP CONN, #4|4/0AL-1/0

3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP

3 GROUND, 1-ARRESTER, POLE MT,CA

3 ARRESTER, SURGE, OH, NON-EXP, 10KV

6 MACH BOLT ASSY,CRVD,5/8"X14"

6 STRAP, NYLON, BLACK
I 1 c/0,27KV, 300A, POLYMER, W/CVR BA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA
I 1 WD POLE GROUND, ROD, #4CU,CA BA
I 1 EQUIPMENT-MOUNTING ARM ASSY BA

DATE 07/19/23
TIME 10:26:33

WO# 07032082
VER 1
CC# 11571

Foreign Ownership? (N)

Cu/BA/SI EX
EM955B
DY801X
DY801X
DG201BIA
EM955B
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X
EM241DCIEY
DE366A
DE491X
DG301BFAXB
DQ902C
DY171D
ET811X
EM701C
EC951D
DG201BLA
EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 37
SEQ# 1360 DESCRIPTION: FAIRCHILD AND MINER
MAP# 06-2-45-007.0 POINT: 222342 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 65E BA DP551E
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV,140T BA DP501K
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 38
SEQ# 1365 DESCRIPTION: DEWITT WY AND MINER ST
MAP# 06-2-45-007.0 POINT: 220444 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV, 25T BA DP501G
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
R 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 3 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 39
SEQ# 1370 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 222300 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 40
SEQ# 1380 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 222207 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 41
SEQ# 2010 DESCRIPTION: 504 W. LENNOX ST.
MAP# 06-2-45-007.0 POINT: 226541 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD, PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 42
SEQ# 2020 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 226604 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
3  EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
6 STRAP, NYLON, BLACK ET811X
I 1 c/0, 27KV, 300A, POLYMER, W/CVR BA EM701C
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A
I 1 WD POLE GROUND, ROD, #4CU, CA BA DG201BLA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 43
SEQ# 2030 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 225603 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 44
SEQ# 2040 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 224602 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 3 BLADE, C/O, 27KV,UNIV,125KVBIL BA  EM955B
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
3  EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
6 STRAP, NYLON, BLACK ET811X
I 1 c/0, 27KV, 300A, POLYMER, W/CVR BA EM701C
I 1 WD POLE GROUND, ROD, #4CU, CA BA DG201BLA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 45

SEQ# 2050 DESCRIPTION: YREKA, CA

MAP# 06-2-45-007.0 POINT: 224706 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 46

SEQ# 2060 DESCRIPTION: YREKA, CA

MAP# 06-2-45-007.0 POINT: 223705 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 47
SEQ# 2070 DESCRIPTION: 812 LENNOX ST.
MAP# 06-2-45-007.0 POINT: 223741 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 48

SEQ# 2080 DESCRIPTION: 830 LENNOX ST.

MAP# 06-2-45-007.0 POINT: 223740 Foreign Ownership? (Y)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 125E BA DP551H
R 1 UNIV FUSE LINK,15/25KV,100T BA DP501J
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 49
SEQ# 2090 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 222760 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 65E BA DP551E
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD, PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WOo# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 50
SEQ# 2100 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 220662 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 51
SEQ# 2110 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 220660 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 WD PL GROUND, ROD,PRI UG/DLT,CA BA DG201BIA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SIGN, "HIGH VOLTAGE", (CALIF) BA DYS801X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 52
SEQ# 2120 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 219660 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 53
SEQ# 2130 DESCRIPTION: 1027 NORTH ST.
MAP# 06-2-45-007.0 POINT: 219540 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 65E BA DP551E
R 1 UNIV FUSE LINK,15/25KV, 65T BA DP501I
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 54

SEQ# 2140 DESCRIPTION: 1038 W MINER ST-YREKA CA

MAP# 06-2-45-007.0 POINT: 218442 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 25E BA DP551A
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 55
SEQ# 2150 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 217562 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV, 40T BA DP501H
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 56
SEQ# 2160 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 216561 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 57
SEQ# 2170 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 217606 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 3 POWER FUSE, SMU-20, 25KV, 100E BA DP551G
R 24 JMPR WIRE #4 7STR CU COVERED BA EC951J
R 3 UNIV FUSE LINK,15/25KV, 65T BA DP501I
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 24 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 3 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 3 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
3  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
3  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
3  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
3  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
6 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
6 STRAP, NYLON, BLACK ET811X
I 1 EQUIPMENT-MOUNTING ARM ASSY BA EE631A




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 58
SEQ# 2180 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 217701 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 1 UNIV FUSE LINK,15/25KV,15T BA DP501F
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 59
SEQ# 2190 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 216702 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 65E BA DP551E
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 60
SEQ# 2200 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 216700 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 61
SEQ# 2210 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 215600 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1l FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
CC# 11571
PAGE 62

SEQ# 2220 DESCRIPTION: YREKA, CA

MAP# 06-2-45-007.0 POINT: 217607 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 80E BA DP551F
R 1 UNIV FUSE LINK,15/25KV, 65T BA DP501I
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
1  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 63
SEQ# 2230 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 218707 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 15E BA DP551L
R 1 UNIV FUSE LINK,15/25KV, 10T BA DP501E
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 64
SEQ# 2240 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 218802 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23
TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 65
SEQ# 2250 DESCRIPTION: YREKA, CA
MAP# 06-2-45-007.0 POINT: 217802 Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K
I 1 POWER FUSE, SMU-20, 25KV, 20E BA DP551M
R 1 UNIV FUSE LINK,15/25KV, 25T BA DP501G
R 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
I 1 1PH CUTOUT AND ARRESTOR ASSY CU Y EM241DCIEY
1  BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
1  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
1  GROUND, 1-ARRESTER, POLE MT, CA DG301BFAXB
2 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
2 STRAP, NYLON, BLACK ET811X
R 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C
I 1 ARRESTER, SURGE, NON-EXPUL, 10KV BA DQ912C




RCMS
FACILITY POINT DETAIL DATA SHEET DATE 07/19/23

TIME 10:26:33

NAME
ADDRESS
TITLE 5G163 LENNOX PT1 FUSE COORDINATION WO# 07032082
COORDINATOR: ALFONSO DOMINGUEZ VER 1
cc# 11571
PAGE 66
SEQ# 2260 DESCRIPTION:
MAP# POINT: Foreign Ownership? (N)
INDIC
I/R QTY DESCRIPTION CHG TYPE CU/BA/SI EX
I 1 POWER FUSE, SMU-20, 25KV, 15E BA DP551L
I 1 POWER FUSE, SMU-20, 25KV, 30E BA DP551B
R 2 UNIV FUSE LINK, 15/25KV,200T BA DP501L
R 2 1PH CUTOUT AND ARRESTOR ASSY CU EM241DCIEY
2 BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
2  HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
2  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
2  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
4 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
16 JMPR WIRE #4 7STR CU COVERED EC951J
2 SMD20 P/F, 17KV, 200E,W/COVER EM701J
2 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
4 STRAP, NYLON, BLACK ET811X
I 2 1PH CUTOUT AND ARRESTOR ASSY CU EM241DCIEY
2 BLTD STIRRUP CONN, #4|4/0AL-1/0 DE366A
2 HOT-LINE CLAMP, #8-2/0 MAIN/TAP DE491X
2  GROUND, 1-ARRESTER, POLE MT,CA DG301BFAXB
2  ARRESTER, SURGE, OH, NON-EXP, 10KV DQ902C
4 MACH BOLT ASSY,CRVD,5/8"X14" DY171D
16 JMPR WIRE #4 7STR CU COVERED EC951J
2 SMD20 P/F, 17KV, 200E, W/COVER EM701J
2 EQUIP-MNTNG FBERGLSS BRCKT, 1PH EM912X
4 STRAP, NYLON, BLACK ET811X
R 8 JMPR WIRE #4 7STR CU COVERED BA EC951J
I 1 WD POLE GROUND,ROD,1/0-2/0,CA BA DG201BFA
I 8 JMPR WIRE,1/0 BARE SD CU,7 STR BA EC951D
I 1 SMD20 P/F, 27KV, 200E, W/COVER BA EM701K




Construction Copy for Joint Use Page 1 of 15
% d kK d kK k k ke k ok ok k ok ok k ok kk ok ok k ok kk ok kkkkkkkkkkkdkkkkkkdkkdkdkkdkkkdkdkkdkkkdkkkdkkkdkkkdkkkdkkdkkkdkdkkdkdkkdhkkdhkkdhkkhkdkdhkkdkdhkkdkhkkdkkkkkkhkkkkkkkkkk
The information you provide on this form is what the Joint Use department uses to both communicate and INVOICE the
licensees listed on this form. Without the information, licensees cannot be accurately notified of their outstanding
work or INVOICED for their portion of cost. Questions? Call or e-mail at 503-813-7022 or JointUseHelp@PacifiCorp.com

Check Off what work was performed in the field for each pole listed below

Write notes or provide a sketch for any redlines

Check Off what we need the licensee/foreign utility to do for each pole listed below
Sign and date the form

o~~~
~—

KA KKK AR AR KA A AR A AR A A A A A AR A AR A AR A A A A A A A A AR A AR A A A A AR A AR A AR A AR AR AR AR AR AR AR A AR AR AR A AR A AR A ARk Ak kA bk hk kb hkhkhkhkhkhkhkhkhkhkhkhkhhhhx

E-MAIL TO JOINT USE WHEN COMPLETED
E-MAIL: JointUseHelp@Pacificorp.com

Request# 007032082 Status O WO# 07032082 Req Type IEW Ccc# 11571 CC Name Yreka Customer Collections
Req by ALFONSO DOMINGUEZ Printed Date 07/19/2023 Printed By ALFONSO DOMINGUEZ

WO Title 5G163 LENNOX PT1 FUSE COORDINATION

WO Desc REPLACE EXPULSIVE FUSES WITH NON-EXPULSIVE FUSES.

REMOVE 10 EXPULSIVE 3PH FUSES
REMOVE 00 EXPULSIVE 2PH FUSES

P&N THE PURPOSE OF THIS PROJECT IS TO REPLACE THE EXISTING
EXPULSIVE FUSES WITH NON-EXPULSIVE FUSES AS PART OF A FIRE
MITIGATION PROGRAM.

Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
0005 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO ( ) Set new pole
230042 Other ( ) Replaced pole ' away
( ) Topped pole
( ) Removed pole butt
( ) Removed power attachment only
() Temp X-ferred joint use
( ) Nothing done to this pole
Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

KKK KKK KR KA AR A AR R AR AR A AR A A AR A AR A AR A AR A A A A A A A AR A A AR A A A A AR A AR AR AR AR AR AR AR AR AR AR AR AR A AR A AR A ARk hk Ak Ak bk hk kb hkhkhkhkhkhkhkhkhkhkhkhkhkhkhhx

1010 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

230042 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

PN o o o~ o~
o o o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

KKK KKK KR KA AR A AR A AR AR A A A A A AR A AR A A A A A A A A A A A A A AR A AR A A AR AR A A AR AR AR AR AR AR A A A AR A AR AR A AR A AR A AR A AR Ak Ak kA bk hk kb hkhkhkhkhkhkhkhkhkhkhkhkhkhkhhx



Page 2 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1020 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole
230141 Other Replaced pole ' away

Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1030 06245007.0 _______ CAL-ORE COMM (Ca) NO Set new pole
231303 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
0.00 NORTHLAND CABLE (CA) NO Topped pole
Other Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222222 RS2 R Rt RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS2

1040 06245007.0 0.00 AT&T (PAC BELL) (CAa) NO Set new pole

231302 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

1050 06245007.0 0.00 AT&T (PAC BELL) (CAa) NO Set new pole

232412 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 3 of 15

WO# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1060 06245007.0 ______ CAL-ORE COMM (Ca) NO Set new pole
231402 0.00 NORTHLAND CABLE (CA) NO Replaced pole ' away
0.00 AT&T (PAC BELL) (CAa) NO Topped pole

Other Removed pole butt
Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222222 RS2 R Rt RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS S

1070 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

231542 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " o o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

1080 06245007.0 _____ AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

229545 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

1090 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
229503 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222222 RS2 R 2222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS2



Page 4 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1100 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
229301 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1120 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

230741 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

1130 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

230740 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

1140 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

228546 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222222 RS2 R 2222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS2



Page 5 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1150 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole
228545 Other Replaced pole ' away

Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1160 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

228542 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

1170 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

227546 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 2R 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS S

1180 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

228640 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 6 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1190 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole
227542 Other Replaced pole ' away

Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1200 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

226543 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

1210 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

226445 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 2R 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS S

1220 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

226443 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222 E 22 RS2 R Rt RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R R RS S



Page 7 of 15

WO# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1230 06245007.0 19.66 AT&T (PAC BELL) (CAa) NO Set new pole
226404 0.00 HUNTER (CA) YES Replaced pole ' away
22 .25 NORTHLAND CABLE (CA) NO Topped pole
Other Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1240 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
226403 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
0.00 HUNTER (CA) YES Topped pole
Other Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS S

1250 06245007.0 21.33 AT&T (PAC BELL) (CAa) NO Set new pole
225403 23.25 NORTHLAND CABLE (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

1260 06245007.0 21.91 AT&T (PAC BELL) (CA) NO Set new pole
224404 24 .00 NORTHLAND CABLE (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 8 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1270 06245007.0 0.00 AT&T (PAC BELL) (Ca) NO Set new pole
224403 0.00 NORTHLAND CABLE (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1280 06245007.0 0.00 AT&T (PAC BELL) (CA) NO Set new pole
224501 0.00 NORTHLAND CABLE (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS S

1290 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

223548 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

1300 06245007.0 _____ AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

222544 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 9 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1310 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole
223544 Other Replaced pole ' away

Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 R 22 R a2 22222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RSt R RS S

1320 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

223541 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS S

1330 06245007.0 _____ AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

222443 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " " o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222 E 22 RSS2 R 2222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R R L 2

1340 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
222401 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222222 RS2 R 2222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS2



Page 10 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
1350 06245007.0 0.00 AT&T (PAC BELL) (Ca) NO Set new pole
222303 Other Replaced pole ' away

Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

1360 06245007.0 ____ AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

222342 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " o o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

1380 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
222207 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

2010 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

226541 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 11 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
2020 06245007.0 0.00 AT&T (PAC BELL) (Ca) NO Set new pole
226604 0.00 NORTHLAND CABLE (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R 2]

2030 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
225603 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

2040 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
224602 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222 E 22 RS2 R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS2

2050 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
224706 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222222 RS2 R 22222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS 2]



Page 12 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
2060 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
223705 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " o o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 SRR 222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R R R RS S

2070 06245007.0 AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

223741 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

2080 06245007.0 ______ AT&T (PAC BELL) (CA) (PPL ON) NO Set new pole

223740 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222 E 22 RS2 R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS2

2090 06245007.0 0.00 NORTHLAND CABLE (CA) (T) NO Set new pole

222760 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 13 of 15

WO# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
2100 06245007.0 0.00 NORTHLAND CABLE (CA) (T) NO Set new pole
220662 0.00 AT&T (PAC BELL) (CA) (T) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt RS R

2110 06245007.0 0.00 NORTHLAND CABLE (CA) (T) NO Set new pole
220660 0.00 AT&T (PAC BELL) (CA) (T) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 22222222222ttt RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R R R L R

2120 06245007.0 0.00 NORTHLAND CABLE (CA) (T) NO Set new pole

219660 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(222222 E 22 RS2 22222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR R Rt R R RS2

2150 06245007.0 0.00 AT&T (PAC BELL) (CA) (T) NO Set new pole
217562 0.00 NORTHLAND CABLE (CA) (T) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 14 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
2170 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
217606 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 a2 222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rttt R RS

2180 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
217701 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " " o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

(22222222222 R 2222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RS R RS2

2190 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
216702 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 2R 22 2R SRR 2222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RSt R R E S

2200 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
216700 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2



Page 15 of 15

wWo# 07032082
Seq |Mapstring/|Attach Licensees Is PacifiCorp allowed to CREW WORK COMPLETED
# Point Height on this pole transfer this Licensee's
Attachments?
2210 06245007.0 0.00 AT&T (PAC BELL) (Ca) NO Set new pole
215600 0.00 NORTHLAND CABLE (CA) NO Replaced pole ' away

Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use

Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 a2 222222222 RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rttt R RS

2230 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
218707 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P~ o~
N " " " o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222222222 R 2222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS S

2240 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole
218802 0.00 AT&T (PAC BELL) (CA) NO Replaced pole ' away
Other Topped pole

Removed pole butt

Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o~ o~
N " " o o o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

222222 E SRR 2222222222222t RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR RSt R RS2

2250 06245007.0 0.00 NORTHLAND CABLE (CA) NO Set new pole

217802 Other Replaced pole ' away
Topped pole
Removed pole butt
Removed power attachment only
Temp X-ferred joint use
Nothing done to this pole

P o o o~ o~
N " " o " o

Joint Use To Do: ( ) Make new attachment ( ) Transfer ( ) Remove attachment ( ) Remove pole butt ( ) Nothing required

22222 E 2R RS2 R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR Rt R RS2

Completed By (print name) EMP # Date / /




General Notes:




